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The figures in the margin indicate
Jull marks for the questions.

Answer either in English or in Assamese.

Answer the following questions as directed :
(any ten) 1x10=10

TRl SepiR ooid epTRa B ol 2 (e 105))
(i) Define a diagonal matrix.

e e wigea foril |

Contd.



(i) Find the value of x, if
x-3 W= [fa =1, IW

15
x 9

=—4.

i) If (@) f(x)=2x°+3x+2, find the
value of f(~3), (CST f(~3) T [ =10 |

(iv) Evaluate (I R =41) ¢
3
< a
e

(v) Define a sinking fund.

<5l AN e Ak T3l

(vi) 10% profit on S.P. = % profit on
CP (Fill in the blank)

RETTETT 8270 10% F® = TAET 8o
L * 56 e (4Tt 912 75 31)

(vii) Write True or False :

) (o OS¢

Every diagonal matrix is a scalar
matrix.

e [ (T @bl il Glees |
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(viii) Define trade discount.

AR el TR o |

(ix) If a is the first term and d is the
common difference of an A.P. series,

then the nth termis __ .
(Fill in the blank)

T B! TR (T AL 2 a T WA AL

T d T, n oA M ']
(3T A2 %79 F9)

(x) Find the cofactor of -1 in the following
determinant :

o faes — 13 iR Rl 5 e

oy B
S Rl
L il )

(xij What is the difference between simple
interest and compound interest ?

e TS S bERE 1o AL 2

(xii) Find the fourth proportional to 9m, 17m

and 2 36.
om. 17m W% Z 361 59% TR H

¢l

<9l
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(xiii) Dgﬁne ‘objective function’ associated
with linear programming.

IR AP F9© TGO e Foi g AR
forir |

e
(xiv) E(TC) = , where x denotes the

volume of output.
(Fill in the blank)

%(TC) - , TS -4 Besiifre AR
AR JEZZ (30Tl 212 999 71)

d [2
= 5=9?
(xv) 5 X + ;

2. Answer the following questions : (any five)

2x5=10
o] fRicpra 557 ek Ted ol ¢
@) If 3W)
5)0(0) SR ED
A 68288 Bi=l0y -2 . 0 |, find
2Eaiis PRsE 0086
the matrix 34 + 2B.
(SC¥ 3A + 2B ool Refg 111
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@) If (W) f(x)=1+x,

then find f {f(x)}.
o f{f(x)} BRI

(iii) Which term of the series 10, 4,-2,-8,

... 1s —104°
'10,4,-2,-8, ... EAGE PG 27
- 104 ?

(iv) Find the compound ratio of the
following :

R SHAER (e SHAte R =1 8
9% 35 61 RESEI0
(v) The ratio between two numbers 152050
If each of them is increased by 14, the
ratio between the new numbers

obtained become 4 : 7. Find the original
numbers.

W5 AR AT 2 : 7 | &S FRYW o7 14
il R (oA T A OIS SAO R4 2 7 |
oAl YT YOR T o |
(vi) Define (K& forall) -
(a) Immediate annuity
ooy AR
(b) Perpetual annuity

Bz AR
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(vii) Mr. X bought a cycle for 22,000 and

sold it for Z 1,800 due to some damage.
Find his profit or loss per cent.

Mr. X-9 G4+ 5i3c@e T 2,000 6 & &
@4 @ 2 1,800 R TR, (967 & A
@O *owal T] e w4 |

(viii) At what rate of simple interest per
annum will ¥ 1,500 produce the same

interest in 5 years as ¥ 3,125 produce
in 3 years at 4% per annum ?

& 99e7 Jo TF© 1,500 GFN 5 IZW IS,
3,125 B3I T2 4% I17e Hod e 3 I={
o] A T2

3. Answer any four questions from the
following : 5x4=20

ol fAepic 451 2T T ol ¢
(i) If (3M)

© =1 o Fe 03
Al
show that (&3 (@)

(A+B)? #A®+2AB+ B
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(i) Solve (FIEH ) :

=0

N e o
— o
= o=

(i) 1If x, y, z be the pth, gth and rth term
respectively of an A.P., then prove
that

M x, y, z FUEE @6t FH @I po,
g OIF 7O A7 T, A T @

x(g-r)+ylr-p)+2z(p-q)=0

(iv) Insert 5 geometric mean between 9 and

576.
9 TE 576-1 TES 56l WG NG TILE
|

(v) Discuss the basic assumptions of
linear programming.

RS e G ARAPTR S S

(vi) Compound interest for 2nd year on a
certain sum at 4% per annum is X 25:
Find the C.I. for 3rd year.

R 4% o9 TS @IE! PieR FOR =W

S 7S 25 5l T, YOI =9 berfa 0
foae 2 .
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(vii) Dinesh finished %th of the work in

9 days and the remaining work he
finished in 4 days with the assistance
of Rajeev. Find in how many days
Rajeev alone can finish it.

T GO 2 o 9 T Tl 0T o

T 243 I (06 A 7 A 4 e =T
=@ | ASIE S0 FCo! o e (17 s
IR

(viii) Prove that (&9 <1 @) :

> (x2 —1)
lim =
x-1 4f3x+1 —+/5x -1

OR | #1241
Evaluate (39 @ 1) ¢

e D == 5k
x—0 X

Answer any four questions from the following :
10x4=40

wee 731 @REIST Repice 451 255 ©aq [l ¢

4. (a) Solve the following system of equation
by Cramer’s rule :

4 (Sem-4/CBCS) HC2 (BMT)/G 8

S.

(R AT FRS SeT© [l AT CFL0!
AL F9 8

3x+y+2z=3

2x-3y-z=-3

x+2y+z=4 S

(b) Prove that (&9 <1 @) :

(c)

ltias . oD c
a 1+b c¢ |=1l+a+b+c 3
a b 1l+c

Evaluate (¥ @ F11) :

=l
CORR AN UG

(@) Construct a 3 x 2 matrix such that

G5t 3 x 2 e o0 41 TE AW
3i

a;:; =——

Yoi+j

D
(b) 1f @) A=[3 5],

then show that (COT8 & < @)
A2 =TA-I

e 1 O
LG =
where (¥9) I [0 1]
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(c A man buys 8 dozen of mangoes

(@)

(b)

@ Z 18 per dozen, 10 dozen of apples
@3 9 per dozen and 4 dozen of bananas
@ ¥6 per dozen. Represent the
quantities bought by row matrix and
prices by column matrix and hence find
the total cost. 1+1+3=5
& ACZ &S TG Wi 18 TF© 8 TEie S
5, ofS Tem 9 T 10 TEA WiCele B
UIF oS T 6 G WS 4 TG el [ |
(o8 T 9 AR REA =it GeTes @ wis
R T8 Gl T TeR ol i ©F #[l
M T 929 T TR Wi Fefw 4|

The sum of three numbers in A.P. is
54 and the product of the two extremes
is 275. Find the numbers. 3
TGS (HTT A fOfH0 AT @aTa 54 Wi

2L S (X1 TR 91390 T 275 | TRt (20
el =i |

Find the value of k such that 3k-7,
5k-1, 14k+2 are in G.P. 2

k2 R W T 3k-7, Sk-1, 14k+2
@dfeq (Hqre AfF?

4 (Sem-4/CBCS) HC2 (BMT)/G 10

(c)

(@)

(b)

4 (Sem-4/CBCS) HC2 BMT)/G 11

If a, b, care in A.P. and x, y, z are in
G.P., prove that

W a, b, ¢ T EF© iR ©iF x, Y, 2
aqEd @A S, dNd ¥ &

xP-¢ yc—a za—b =1l 5

The compound interest and simple
interest on a certain sum of money at
a certain rate for 2 years are

respectively at ¥ 920.95 and X 900. Find
the rate and the sum. S
@ TR @ [T 7o TS 2 =W
eE S E PO F 920.95 T WS
900 T | o3 T W T e =

A person sells 4% stock of 17,500
and invests the proceeds in 3% stock
at 74%. If his income increases by
3 17.50, find the selling price of 4%
stock (brokerage being %% in each

case). 5

& AR (9€9 17,500 ST 4% 35 R

TR (ol o 74-;%L weq 3% TP WA | ;M

codq i 17.50 5 I AR, COTRE 4%
s B W w39 (AoF CFI©

el W 5% )|

Contd.



8. (a) A true discount on a bill of % 1,01,000 G& YR <O ARG} R 5% oS /i 3R |

is 21,000 at 5% p.a. Find how many Ify ARG ATTE! 5% Fye T I 37
days prior to the actual due date was ~I25! T© [T FRE (RO, (©€F 10% Fjo
the bill discounted. S | S Ere | ANAER oipe Tl Wi el |
1,01,000 B 319 G2 R 235w 151 »{fwil | i :
1,000 5| ﬂéa];ﬁm 5‘;?:?3 SET T F (b) In mixing two types of tea, 2% is
ﬁ’ 2% “{Ree O % e | wasted. In what ratio tea costing
2ol 4 ke _‘ R 60 per kg be mixed with tea costing
ol ; R4S per kg so that by selling the
(b) Define (3@l for2ii) : 1+1=2 Iil mixture at ¥62.50 per kg, there is a
(P Pividends [ gain of 25% on total outlay. 5
T | B T4 DI Bt TeITS 2% 29 7w o
(i) Market value of a share | & 60 5 19 DIRATSS w11S effS (5fE 45
S TG T | B9 T BRArS & epites e o of

e fif¥e v 62.50 e [RiF SR

=11 wiew @se 25% e TRe ot A| Bely

(c) Which is a better investment — 49, | -
stock at 82 or 4%% stock at 957 3 ‘ 39

82 T 4% ¥F T 95 W 419, B |

1
(PITCBT® et RIFCae! wwemms 274 10. @ 1t @) flx)==,

‘ : | show that (24 91 (@)
9. (a) A person buys :in article and sells at a i

profit of 5%. If he had bought it at 5% | 22

less price and solq it for 37 paisa less, fle)-rla)=1 q-p z
he‘ would have gained 10%. Find the !

original cost price, S

. 4(Sem-4 HC2 (BMT)/G 13 Contd.
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(b) Examine the continuity of the following

function at x=3 : 3
x=3-% ©ee S@Ed 9 TEADR S«0aol
S 9 2

11. (a)

1
Find the differential co-efficient of F

using first principle. 5

1
YA IQ JI[ I ?—HW@Wﬁ‘ﬁ
sl

S | (b) Find the maximum and minimum
f (JC) =¢ x-3 | 3 2
_ | values of 2x° -9x“+12x-1 S
6, if x=3 ;
| 2x° - 9x? +12x -1 W WIF AR® A
l ey 401
(c) Find the ‘
(i) average revenue function (AR), and ;!' 12. (a) Integrate (SFe= F9I) : 2+3=5
(i) marginal revenue function (MR) for | (i) I (3x + 2)2 dx
the following total revenue function
(TR) and evaluate them at Q=3 : i) ,[ X5 4x T2 e
S x2
oo fiat 39 Reft o (RIS ¥l (b) Evaluate (I fe@ 1) : 2%+2% =3
() 1% R o7 (AR), W
2/ 92
L xX“+2x+93 S
(i) 2fes R ow Tom (MR) Pl 1 =i (1) flk__—__x J
Q=3 T Pl Wi [efa 3= ¢ :
1
2 | (i) [ |vx+ T’J dx
TR=Q° - % +27Q | 1 ~
4 (Sem-4/CBCS) HC2 (BMT)/G 15 Contd.
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13. (@) Solve any one of the following LPP

4 (S

graphically : 6
wois ReFiza Gl (RS el TPM! EIRT
e TN F 3

(i) Maximize Z =6x+7y
sifve W Ao
subject to (TFF TR AATF) 2
2x+3y <12
2x+y =8
x,y20
(ii) Minimise Z =3x+2y
Ty T ey w0
subject to (O5F Tq ANATE) 3
S5x+y=210
xX+y26
x+4y 212
6 yr=0

(b) Write a short note on : (any one) 4

Riceizn @big o3 (Gl ferdt ¢
() Linear Programming Problem

RS e e
(ii) Application of LPP in Business

fvere @RE s

em-4/CBCS) HC2 (BMT)/G 16 10000
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COMMERCE
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(Human Resource Management )
Full Marks : 80
‘Time : Three hours

The figures in the margin indicate
full marks for the questions.

Answer either in English or in Assamese.

Answer as directed : (any ten) 1x10=10
Fom Sl Ses w2 (Resie 72o1)

(@) Human Resource Management is very
useful in creating work culture in an

~ organisation. SN
(State whether True or False)

GBI AT 3 AES 9 et T Fm
SifEpEl Ofe RISl (8% F I8 [&530)

Contd. .



(b) The process of human resource

planning should begin at the top level.

(State whether True or False) AV ETIFH 25 2w — 4, GG
RIGE e i | Eb o s R e ) R R ) FICA i T | (=TT 912 99 1)

(RHICSl ThHS | (%% & 5% [F30)

(9)

The selection procedure ends with the

(c) Human beings are the key and most of a’ worker on the job.
important investment and assets in (Fill in the blank)
modern organisation. AT eI ST Gion

(State whether True or False) ¥ IS

WY ARaAITS T TG ZE SIBelE SRR (Wﬁﬁ‘fﬁf@f)

SICHTIA fRECel S 791 | (h) Counselling is the discussion of an
(&7 @ e ai30) problem with an employee.

(d) The common belief now-a-days is that (Fill in the blank)

(e)

managers are born, not made.
(State whether True or False)
TEAIAR9E e G200! K (@ ARG Gemg
&1 27, (o8 dwe i @RI
(&% (7 T&% WW)

All the employees require constant
to cope with the need of the
job. . (Fil in the blank)

M ARG Ao i AR 2[0S AT G
SO I NG |
(33 e )

(f) Job evaluation is the technique of

the job and not the man.
(Fill in the blank)

()

AW (202 FhIS] GS=T A
GRS TG | (371 212 59 1)

When the employee feels that an
injustice has been done, it becomes a

@ GG FHIRNE Sfeq T (A (967 CF©

(i) complaint (SSGIE)
(ii) dissatisfaction (SPTEMRsT)
(iti) grievance (€& Sisifera)
(iv) punisiqment QlIRG))

(Choose the correct answer)

(Y%l AR Tlear)

4 (Sem-4/CBCS) HC3 (HRM)/G 2
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s 4 o : () The basic job of every executive is
() The basic objective of industrial health P
s G5 RIS T D] 2
Suifee A I S R . () planning
(i) prevention of disease and injury : S GRELll
G@ist =i S il Gi D
; 1 o
(ii) medical reimbursement ke Y orbarfsmg
fofeeang wiosel | ARSI
(i) cure of the diseases | (iii) decision-making
@I5R elfoPR | - e 22
(iv) All of the above e .°d' .
SoReT TR 1 ordinating
(Choose the correct answer) ! AREERIE
<l Jife ©FS7) : f‘ (Choose the correct answer)
‘ | 3 & GIe7es
(k) A large part of compensation that | (Regle fl :
, peoplf receive fiom work 1s |  (m) The success of an organisation depends
TR (9T FI IS wHforel fRpIta o= F upon the quality of selected
1 n-monet ' ! 2
() ;;wgﬁ%g | 451 AP el FTeg FE
(il monefary | (i) . Machines (TTATS)
Wi Akl (i) Tools GTgEN)
B me%%;egggfs | i) Market (<81
N |
0)MNore ofithel aboye | (iv) Personnel (TR F7>M)
. @9‘,\:@ D16 2T (Choose the correct answer)
(Choose the correct answer) ' _ (ol R Tle1sa)
(wah) Fik Gersdl) | : | ' |
i 4 {Sem--”:/CBCS] HC 3 (HRM)/G %) Contd.
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)

()

In which year National Institute of
Labour Management was established ?

qZI =fei ~ARDER 250 FE! IS afsu

2w 2

(i) 1950 (>»¢o0)
(i) 1965 (5d%¢)
(iii) 1947 (5589)

(iv) 1975 (534¢)
(Choose the correct answer)
(&%0! <z ©lrsdr)
Social security is concerned with the
well-being of
ANIGE FTFR P ©OER AE TN F&
(i) the consumer
. GACeEd
(i) the people
Sl A<
(i) the governmeﬁt
PEEHEE|

(iv) the children

IR
(Choose the correct answer)
(o] iR G Sd)

4 (Sem-4/CBCS) HC3 (HRM)/G 6
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2. Write very short answer : (any five) '
' 2x5=10

oS b Bed i ¢ (Riesprer 2liso1)

(a) What is human resource management ?

R A2 2IREEE S /52

" (b) What is meant by outsourcing ?

qfegTm Sgd M < 9@ 2

(c) What do you mean by career
development ? :

FRER [ e 7 @i 2

(d) What is 360 degree performance
appraisal ? :

wvo B siRmel SR e 752

(e) Mention two elements of compensation.
o7 70 SAWi T 4l |

() | What is fringe benefit ?

wfefae ARl e &2

(g)  Mention two merits of directive
counselling. '

RS PREEWEE 707 ARG SrEe <=0 |
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(h) Mention two significance of labour

welfare to the society.

w5 I TGCE SNSRI 70 O] e
34 | :

3. Answer the following : (any four)

e fraER Bt el ¢ (Reen oRoR)

5x4=20

(a) Explain the recent changes which are

(b)

()

taking place in the field of human
resource management.

e T AEeERE e T S
SARRGTAZ 60l T |

What are various factors responsible
for the need of human resource
‘information system ? Explain.

(FINEIE FEEE AR (o 2 0T 4] |

Discuss about various objectives of
human resource planning.

ST A e RS SrreiR Sl
4 |

4 (Sem~4/CBCS) HC3 (HRM)/G 8

()

el

)

(h)

What are the limitations of interview in
selection process ? Explain.

o ferare S o2 SFRAPTR 1@ e
BRI

Discuss about the importance and
needs of executive development in
human resource management.

TR T AREES TR [KEHE
g SIS TGSl 2GS ST S0

What are the essentials of social
promotion policy ? Explain.

I A ST ARG SR <
2 I |

Discuss about various external factors
influencing employee remuneration
policy. '

=R SRR SivR FaRTe der KER
4 e TRIANR SNCEn]

Briefly discuss the welfare facilities for
workers under the Factories Act, 1948.

| 3Tl O, Sb8Y-T RS TG AR

Wvaﬁwsaan
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4. Answer the following questions : (any four)

10x4=40

weo WAERS Sl &1dl ¢ (Redie bifaby)

(a) Discuss various managerial and
operative functions of human resource
management.

S I ARG 2ARPER TR e
FI SR S 0 |

(b) What is job analysis ? Describe various
techniques used for analysing the jobs.

2+8=10
ofvs el S 72 = Resae Fae a9
(2RI [ied (FHETEE SNEn |

(c) Discuss various external and internal

sources of recruitment.

TS qIf2f Sl SR ST S5
41|

(d) Discuss about various traditional and
modern methods of training for
employees in an organisation.

B &I TR kit frar Rifon S
01 B B R (OB (OR b elin  c e B

4 [Sem—4/CBCS) HC 3 (HRM)/G 10

()

(h)

What is performance appfaisal ?
Explain the importancé of performance
appraisal in human resource
management. 2+8=10

ARV O] TERA S 6 2 TR 79 2/R5lere
WOl SEPRE &g PR |

What is meant by transfer ? What are

its various kinds ? Bring out clearly the

features of a sound transfer policy ?
2+4+4=10

WETesd A 752 2T R © 9
SR el SbE e CARIBRR <ele <5 |

What is voluntary retirement scheme ?
Discuss about various issues involved
in VRS for its effectiveness. 2+8=10

(ORI ST SIIbA G 5 2 <2 Sl 2]

Be el S S REene & & St
-4 |

Examine various legal provisions
regarding safety of workers.

331&1315?1 513 T (RO Y 5 99 < 7?(1513. & 9[‘%3:1‘ e
<4 |

4 (Sem-4/CBCS) HC3 (HRM)/G 11 Contd.



(i)~ What is an industrial dispute ? Discuss
about various provisions of the
Industrial Disputes Act, 1947 for
settlement of industrial disputes.

_ 2+8=10
it Jam e 2 Sopiie Ram feife
$f%4cs1 Industrial Disputes Act, 1947
(IEFTR el < |

() What are the basic qualities required
for a human resource manager. Discuss
about his role in modern organisation.

S5+5=10
P i a1 9 o s €3 D R o P S
2 CFIO (9¢ A FET TN SRFERR
SIGIPDIRSEIN
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